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efJe<eÙe : šsueerkeâcÙetefvekesâMeve
Subject : Telecommunication

meceÙe : 3 Iebšs] [hetCeeËkeâ : 100
Time : 3 Hours] [Maximum Marks : 100

efveoxMe : (i) meYeer ØeMve DeefveJeeÙe& nQ~

All questions are compulsory.

(ii) ØeMve ›eâceebkeâ 1 ceW oes Yeeie nQ — (De) efjòeâ mLeeveeW keâer hetefle& keâerefpeS~ (ye) yengefJekeâuheerÙe ØeMve~

Question No. 1 contains two parts – (A) Fill in the blanks and (B) Multiple choice

questions.

(iii) ØeMve ›eâceebkeâ 2 mes 7 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ Meyo meercee 30 Meyo nw~

Question Nos. 2 to 7 are very short answer type questions. Word limit of

answer is 30 words.

(iv) ØeMve ›eâceebkeâ 8 mes 11 lekeâ ueIeg GòejerÙe ØeMve nQ~ Meyo meercee 50 Meyo nw~

Question Nos. 8 to 11 are short answer type questions. Word limit of answer

is 50 words.

(v) ØeMve ›eâceebkeâ 12 mes 17 lekeâ ueIeg GòejerÙe ØeMve nQ~ Meyo meercee 100 Meyo nw~

Question Nos. 12 to 17 are short answer type questions. Word limit of answer

is 100 words.
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(vi) ØeMve ›eâceebkeâ 18 mes 23 lekeâ oerIe& GòejerÙe ØeMve nQ~ Meyo meercee 150 Meyo nw~

Question Nos. 18 to 23 are long answer type questions. Word limit of answer

is 150 words.

(vii) ØeMve ›eâceebkeâ 24 SJeb 25 Deefle oerIe& GòejerÙe ØeMve nQ~ Meyo meercee 200 Meyo nw~

Question Nos. 24 and 25 are very long answer type questions. Word limit of

answer is 200 words.

(viii) efveÙeceevegmeej ØeMve ›eâceebkeâ 12 mes 25 lekeâ Deebleefjkeâ efJekeâuhe efoS ieS nQ~

Internal options for Question Nos. 12 to 25 have been given as per rule.

(KeC[-De)

(Part-A)

(ØelÙeskeâ ØeMve 1 Debkeâ keâe nw)

(Each question carries 1 mark)

ØeMve—1. (De) efjòeâ mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

(A) Fill in the blanks :

(i) keâeÙe& keâer Ùeespevee yeveeves mes henues ................. pe™jer nw~

________ is essential before making any plan of action.

(ii) ................. efJeefOe yesnlej mhueeFme eEyeog GheueyOe keâjeleer nw~

________ method is providing best splicing point.

(iii) peye ØekeâeefMekeâ lebleg mes keâeÙe& keâj jns nQ leye ................. jbie keâe SØeve henvevee DeeJeMÙekeâ nw~

It is essential that while working with optic fiber we should wear ________

colour apron.

(iv) peye ØekeâeefMekeâ lebleg mes keâeÙe& keâj jns nQ leye ................. henvevee ÛeeefnS~

While working with fiber optic we should use ________.

(v) mJeÛÚ Yeejle DeefYeÙeeve keâe MegYeejbYe ................. keâes ngDee Lee~

The 'Swachh Bharat Abhiyan' launched on ________
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ØeMve—1. (ye) mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

(B) Choose and write the correct option :

(i) mLeehevee Øeef›eâÙee kesâ oewjeve lebleg keâe ceesÌ[ ef$epÙee efkeâlevee nesvee ÛeeefnS :

(De) kesâyeue JÙeeme keâe 5 iegvee

(ye) kesâyeue JÙeeme keâe 10 iegvee

(me) kesâyeue JÙeeme keâe 20 iegvee

(o) kesâyeue JÙeeme keâe 50 iegvee

At the time of installation process, the bend radius should be :

(a) 5 times the cable diameter

(b) 10 times the cable diameter

(c) 20 times the cable diameter

(d) 50 times the cable diameter

(ii) eEmeieue cees[ HeâeFyej hejer#eCe nsleg efkeâme Øekeâej kesâ ØekeâeefMekeâ œeesle keâe GheÙeesie neslee nw :

(De) LED

(ye) VCSEL

(me) Laser

(o) Ghejesòeâ meYeer

What is the type of optical source used to test single mode fibers :

(a) LED

(b) VCSEL

(c) Laser

(d) All of the above

(3)

C-232957 P.T.O.



(4)

C-232957

(iii) Ùeefo Skeâ HeâeFyej štšlee nw lees meyemes GheÙegòeâ GheeÙe nw :

(De) kesâyeue hej leveeJe keâce keâjW

(ye) cejccele Deewj yeouevee

(me) meHeâeF& Deewj hee@efueMe

(o) Ghejesòeâ meYeer

If a fiber breaks the most suitable remedy is :

(a) Reduce stress on cable

(b) Repair and replace

(c) Cleaning and polishing

(d) All of the above

(iv) ØekeâeefMekeâ lebleg kesâyeue keâe meceeheve efJeMes<e mJeemLÙe Deewj megj#ee peesefKece Glhevve keâj mekeâlee

nw, pewmes :

(De) kesâyeue meceeheve nsleg efueS ieS uebyes meceÙe mes LekeâeJeš

(ye) keâeBÛe kesâ šgkeâÌ[eW keâe lJeÛee ceW Iegmeves keâe peesefKece

(me) EMI kesâ keâejCe DeeJesefMele kesâyeue mes efJeÅegle Peškeâe

(o) leej mes efvekeâues lesue keâe lJeÛee Deewj keâheÌ[eW ceW oeie

Terminating fiber optic cables may produce health and safety risks such as :

(a) Tiredness due to length of time taken to terminate cable

(b) The risk of glass shards piercing the skin

(c) Electric shock from charged due to EMI

(d) Oilescaping from cables staining the skin and clothes

(v) Skeâ veS meeFš hej hengBÛeves hej Øeehle efkeâÙee peeves Jeeuee DeeJeMÙekeâ metÛevee keâe efJe<eÙe nw :

(De) kewâvšerve kesâ Kegueves keâe meceÙe

(ye) vepeoerkeâer š^sve mšsMeve

(me) efvekeâemeer ceeie&

(o) Devegceefle Øeehle Oetceüheeve #es$e
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When arriving at a new site, one item of essential information which should

be obtained as :

(a) Time that canteen is open

(b) Nearest train station

(c) Evacuation routes

(d) Permitted smoking area

(KeC[-ye)

(Part-B)

(ØelÙeskeâ ØeMve 2 Debkeâ keâe nw)

(Each question carries 2 marks)

ØeMve—2. ‘meeFš efJeefpeš’ kesâ yeejs ceW efueefKeS~  2

Write about 'Site Visit'.

ØeMve—3. cewvenesue megj#ee nsleg keâejeriejer megj#ee meeJeOeeveer efveoxMe keäÙee nw ? 2

What are workmanship safety guidelines for manhole safety ?

ØeMve—4. JÙeefòeâiele megj#ee GhekeâjCeeW kesâ veece efueefKeS~ (keâesF& Ûeej) ½×4=2

Write four personal protective equipment name.

ØeMve—5. «eteEceie keâe keäÙee cenlJe nw ? 1+1=2

What is importance of grooming ?

ØeMve—6. ‘mJeÛÚlee’ keâes heefjYeeef<ele keâerefpeS~ 2

Define 'Hygiene'.

ØeMve—7. yeÛele Keelee keâe mebef#ehle efJeJejCe oerefpeS~ 2

Give short description of 'Saving Account'.

(KeC[-me)

(Part-C)

(ØelÙeskeâ ØeMve 3 Debkeâ keâe nw)

(Each question carries 3 marks)

ØeMve—8. ØekeâeefMekeâ lebleg lekeâveerefMeÙeve keâe keâeÙe& efJeJejCe keäÙee nw ? 1+1+1=3

What is job description of fiber optic technician ? Write.
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ØeMve—9. kesâyeue YeC[ejCe kesâ leerve efyevogDeeW keâes efueefKeS~ 1+1+1=3

Write three points of 'cable storage'.

ØeMve—10. mhueeFeEmeie kesâ efueS ØekeâeefMekeâ lebleg kesâyeue lewÙeej keâjves nsleg leerve peeBÛe keâewve mes nQ ? 1+1+1=3

What are the three test to prepare OFC for splicing ?

ØeMve—11. OTDR efveMeeve ceeheve kesâ efueS ‘keâeÙe& DevegosMe’ keäÙee nw ? 1+1+1=3

What are 'Work Instructions' for OTDR trace measurement ?

(KeC[-o)

(Part-D)

(ØelÙeskeâ ØeMve 4 Debkeâ keâe nw)

(Each question carries 4 marks)

ØeMve—12. PSTN keâe meefÛe$e JeCe&ve keâerefpeS~ 1+1+1+1=4

Describe PSTN with diagram.

DeLeJee / OR

efvecve keâes mecePeeFS :

(i) yeÇe[ yewC[

(ii) ØekeâerCe&ve

(iii) Dee@efhškeâue HeâeFyej

(iv) TRAI

Explain the following :

(i) Broad band

(ii) Scattering

(iii) Optical fiber

(iv) TRAI

ØeMve—13. keâesF& Ûeej Dee@efhškeâue HeâeFyej GhekeâjCe kesâ yeejs ceW efueefKeS~ 1+1+1+1=4

Write about any four optical fiber device.

DeLeJee / OR

kesâyeue šefce&vesMeve ceW Meeefceue ÛejCeeW keâer metÛeer yeveeFS~

List of steps involved in cable termination.

ØeMve—14. mhueeFeEmeie keäÙee nw ? mhueeFeEmeie kesâ efueS DeeJeMÙekeâ ÛejCeeW keâe JeCe&ve keâerefpeS~ 1+3=4

What is splicing ? Describe the steps required to splicing.
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DeLeJee / OR

cewkesâefvekeâue mhueeFeEmeie efkeâmes keânles nQ ? Fmekesâ DeeJeMÙekeâ ÛejCeeW keâer JÙeeKÙee keâerefpeS~

What is mechanical splicing ? Explain its essential steps.

ØeMve—15. PPE keäÙee nw ? efJeefYevve Øekeâej kesâ JÙeefòeâiele megj#ee GhekeâjCeeW keâes mecePeeFS~ 1+3=4

What is PPE ? Explain different types of personal protective equipment.

DeLeJee / OR

keâejeriej mebyebOeer efkeâve-efkeâve meeJeOeeefveÙeeW keâe heeueve efkeâÙee peevee ÛeeefnS ?

What are the workmanship precautions to be observed ?

ØeMve—16. mebÛeej efkeâmes keânles nQ ? efJeefYevve Øekeâej kesâ mebÛeejeW keâes mecePeeFS~ 1+3=4

What is communication ? Explain the different types of communication.

DeLeJee / OR

mecemÙee meceeOeeve ceW Meeefceue ÛejCeeW keâer JÙeeKÙee keâerefpeS~

Explain the steps involved in problem solving.

ØeMve—17. meceÙe ØeyebOeve keäÙee nw ? meceÙe Kejeye keâjves Jeeueer yeeOeeDeeW keâes efueefKeS~ 1+3=4

What is time management ? Write time wasting barriers.

DeLeJee / OR

mebÛeej keâer Øeef›eâÙee keâes mecePeeFS~

Explain the process of communication.

(KeC[-F)
(Part-E)

(ØelÙeskeâ ØeMve 5 Debkeâ keâe nw)

(Each question carries 5 marks)

ØeMve—18. š^WeEÛeie keäÙee nw ? Fmekeâer mLeehevee kesâ efueS DeeJeMÙekeâ ÛejCeeW keâer JÙeeKÙee keâerefpeS~ 2+3=5

What is trenching ? Explain the steps required for its installation.

DeLeJee / OR

Dee@efhškeâue HeâeFyej kesâyeue keâes ØeYeeefJele keâjves Jeeues keâejkeâeW keâes efueefKeS~

Write the factors affecting the optical fiber cable.

ØeMve—19. HeäÙetpeve mhueeFeEmeie Deewj cewkesâefvekeâue mhueeFeEmeie ceW Deblej yeleeFS~ 1+1+1+1+1=5

Differentiate between fusion splicing and mechanical splicing.

DeLeJee / OR

VFL keäÙee nw ? Fmekeâer keâeÙe& ØeCeeueer keâe JeCe&ve keâerefpeS~

What is VFL ? Explain its working system.

ØeMve—20. efveJeejkeâ jKe jKeeJe Øeef›eâÙee keâe JeCe&ve keâerefpeS~ 5

Describe the preventive maintenance procedure.
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DeLeJee / OR

oes<e DeefOemetÛevee Øeef›eâÙee keâe JeCe&ve keâerefpeS~

Describe the fault notification process.

ØeMve—21. [eEkeäšie keäÙee nw ? Fmekeâer mLeehevee kesâ efueS DeeJeMÙekeâ ÛejCeeW keâer JÙeeKÙee keâerefpeS~ 1+1+1+1+1=5

What is Ducting ? Explain the steps required for its installation.

DeLeJee / OR

Dee@efhškeâue HeâeFyej lekeâveerkeâ ceW kesâyeue hegefuebie Øeef›eâÙee keâe JeCe&ve keâerefpeS~

Explain the process of cable pulling in optical fiber technology in detail.

ØeMve—22. OTDR keäÙee nw ? Fmekeâer keâeÙe& ØeCeeueer keâe JeCe&ve keâerefpeS~ 2+1+1+1=5

What is OTDR ? Explain its working system.

DeLeJee / OR

Dee@efhškeâue HeâeFyej kesâyeue kesâ mebjÛevee keâer meefÛe$e JÙeeKÙee keâerefpeS~

Describe the structure of optical fiber cable.

ØeMve—23. keâchÙetšj kesâ cetueYetle YeeieeW keâe JeCe&ve keâerefpeS~ 1+1+1+1+1=5

Describe the basic parts of computer.

DeLeJee / OR

SWOT keâer JÙeeKÙee keâerefpeS~

Explain SWOT.

(KeC[-Heâ)
(Part-F)

(ØelÙeskeâ ØeMve 6 Debkeâ keâe nw)

(Each question carries 6 marks)

ØeMve—24. š̂ebmeefceMeve ceeref[Ùee efkeâmes keânles nQ ? š̂ebmeefceMeve ceeref[Ùee kesâ ØekeâejeW keâe JeCe&ve keâerefpeS~ 1+1+1+1+1+1=6

What is transmission media ? Describe the types of transmission media.

DeLeJee / OR

Dee@efhškeâue HeâeFyej lekeâveerkeâ kesâ DevegØeÙeesieeW keâe JeCe&ve keâerefpeS~

Explain the application of optical fiber technology.

ØeMve—25. Dee@efhškeâue HeâeFyej kesâyeue yeneueer Øeef›eâÙee keâe JeCe&ve keâerefpeS~ 1+1+1+1+1+1=6

Describe optical fiber cable restoration process.

DeLeJee / OR

keâejeriejer kesâ yesnlej iegCeJeòee Deewj yeÌ{er ngF& o#elee kesâ efueS DeeJeMÙekeâ keâeÙe& efveoxMeeW keâes efueefKeS~

Write the necessary working instruction for better quality of workmanship and

increased efficiency.
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